qzmzoﬁriéﬁﬁs*cﬂ%ﬁ#nﬁrlﬁiﬂ($y=1’z21 F£18~38)

LREERF

VAN N
= 7 | xmemm) || ZeEm) 5 7

1 BR-REE

(1) &, <TE. Bk 22 201,700 | 57 575476 |{RB R, KEFHLEFH
(2) #&31 | o ol o 0

(3) RE 0 0| o 0

(4) BH 0 0| 7 30,000 (FH. k%

(5) BERRAEESE 0 o| '3 30,000 |ZEEE AT . RAVFTEE
2 RE-BiE

(1) =& 0| © 0

(2) BIREFH 0| 1 10,000 | FEE A DRI EF
3 RE-BUSE

(1) |B-BH2E 2 26,000 | 8 93280 |HEEGLDORE. BHSE
4 ZFDOith ‘

(1) EXEFET 4 30,340 | 10 96,370 [EXEME LI

(2) EBERE 6 53,785 | 11 106,519 [FhfIEF- kX FARSRAFE
(3) #E 3 91,875 | 4 94,815 |FIRI., #HERE

HHE VX HSEE 37 403,700 | 101 1,036,460 ’

TRHR20EEFHEE 2,000,000




